Quiz 9

Name of Student (Print): 613 l
Today’s Date: November 7, 2017

1. For a certain product, it is known that the relationship between price (p) and demand (g) is given
as p = —0.02¢ + 12.

(a) Give the expression of revenue as a functlon of demand ¢. At which demand level will the
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(b) Find the elasticity function E(p) (as a function of price p). hse 2 32 W 4 G
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ii. At wﬁlch price level will the revenue get maximized? “n
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2. Consider the function: f(z,y) = zIn(zy)
(a) What’s the domain of f(z,y)? N
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(b) Calculate the first ﬁr partial derivatives fz(z,y) and fy(z,y):
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(c) Calculate the second order partial derivative (T, 9):
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